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(a) Determine x +
It ) and the eigenvalues of T .

G) Determine the a-
yeaspaws oft .

(c) Determine the algebraic and geometric multiplicities
(d) Is T diagonalizeble ? If yes.

determine a basis of eigenvectors .

It let T : V - or be a linear operator .
Prove or disprove

C D T diagonalizeble ⇒ T
'

diagonalizeble
(2) Th diagonalizeble ⇒ T diagonalized .

I let Ti V → V be a diagonalizeble operator on a finite dimensional

vector
space

. Determine def CT ) and tr CT ) in terms of
the eigenvalues of T and their multiplicity .

4J let T : V → V be an invertible linear operator .

Show

that def is an eigenvalue of T ⇐ it is an eigenvalue of T
!

It let p be a basis of a finite dimensional inner product space V .

Show that if Cx , ⇒ = Cy it ) for all zep ,
then ⇐

y .

I let C
,
7
,
and a , a be two inner products on a

vector
space

V
.

Show that C
,
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,
t C

, Sa : U x V → F
, Capt Kip ,

tax
, y > a

is also an inner product on V
.


